EAGRAROBREERT — 2 N— ABISH —F 202058120 () 2mITIE2H

IR +>%—M% C2——= (xwlw | mEmml - |5 ) o 8
[A&4] 1 7% :1,000,000 @ 23 :380,000 . 33 :250,000 .~ 4 3#:150,000 @ ~ 5 7% :120,000 [
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
NN RYSN [EE-FN :31. —-2-1- . — HEH— (/1)
i lslg|N>s19T59> it 6 o 1(3_1)0 2-2-1-1 | 38.8 5 (4_619) Bor
RigAFS v ML Brild—1)U— B Kk
S =5 #o7 | WisEE 1:31.3 4-65-3 [38.7| — | 1 | 500 |PEEE (k)
EH glzrA==77 bk 5.0 (1172 Cy) | FEE
R MT—EY BRU—ZXTYU— EDAY ¢
_ = B4 | HIE 1:31.4 10-10-11-9 | 38.2 | — 6 455 | i3 (J116)
317]9 F—==477 54.0 (1/2) (+5) %fr;ﬁ;
R:Vv2xRgy4 B:T7—-KLFa-)b ellikse]
. . 4 8 | AABRHE 1:31.4 1-1-3-2 |39.2| — 10 | 440 | W= (GAFN)
a1 | 7>1E> *50.0 ) (-5) | FEFIBE
RikTA=2Y BT T—1EY e
— VN EDN :31. —3-4- . - ez (J11E)
5 gl 7rFU-2 i 5 o 1 (311)6 3-3-4-3 | 39.2 11 :1:321) e
R:T74HO BiiaNy-—> B A LS
6 =P H o4 ;%Tﬁk (11:311/.29) 1-11-1-3 [89.7 | — | 7 | 462 g%g; (I1115)
R:ELTFOYY BXR—URY—7> (-1) IVIT5ITT— L
717010l F¥TTNT 1 # 6 | AR (11312/2% 8-9-56 |39.6| — | 8 | 492 II@?;%;:(S;?EM
Qi —IUTY BiAATLAR 2| Tomisg
8 o | NP XRIZ 4 6 ?g?glﬁ% 1:(312).4 4-3-5-6 | 39.8| — 4 | 474 iﬁgﬁ—& (i)
QTFNFRTL2 BiEa—7qaTLH ) | Bxchksme BEBERLS
9lgli2 TS5%y RTI— # o7 ?;_E%IEi 1(’732t§ 6-6-5-6 |39.8| — 2 535 %g@% (J111e)
R:d—=IR7U1— B:rOEANT Sy YL (-3) J—HTr—L
100N 4 | EALRTZIAI #o4 | BEES 1:(322).8 8-7-9-10 [40.0| — | 12 | 455 ggggﬁ (i)
QT—9TH—R BT TrFySE 42 1 Hasr—n
1lsl5 | ¥7p3d—0F o4 ﬁﬁ? 1:(3233.2 7-8-10-11 | 40.2 | — | 3 | 497 Eﬁéé (1)
QITIAKT—NSF— BTL—IN— b QR e
lgliy| vx1r1eEDTS i 4 15?3%?@)& (12313/27) 12-12-12-12| 40.2 | — 9 433 %J%gt (J17185)
QiRTY—>E—O— B:VTAaASN G0 K s
@ 1—F—@&BIEf
13=3r= 1,6,8,(2,3),12,5, (4,10),9,7,11
23—+ — 1,6,(2,8),3,12,4,5,10,9,7,11
30—7+— (6,7),1,8,(2,3,10,12) ,4,5,9,11
41—+ — 6,1,(3,7,8),(2,10,12) ,9,4,5,11
[ RN
B OB 6 850/ 714K 3-6 620 e & 3-5 540/ 3ER 3-6-9 2,890M
1 B 6 280 6-9 850M B 5-3 1,440 JEH 6-3-9 20,420
3 130M4 3-9 530 B E 3-6 1,630M
9 220 B H 6-3 3,780

ARICOVWTRDTEEERROODE. TR LI,



